### THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

# MEETING OF THE BOARD OF EDUCATION OCTOBER 17, 2018

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on October 17, 2018 at 6:30 p.m.

William F. Connors Jr., President Members present:

> Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Angelique Ragolia, Trustee

All were present Members absent:

Cheryl Pedisich, Superintendent Also present:

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Lauren Walters, Student Representative to the Board

Visitors

CALL TO ORDER

Mr. Connors called the meeting to order at 6:32 p.m.

**MOVE INTO EXECUTIVE SESSION** 

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss

the employment history of a particular person(s) and current litigation.

**RECONVENE** INTO PUBLIC **SESSION** 

The meeting reconvened into open session at 7:30 p.m. Mrs. Pedisich led the pledge of

allegiance.

**CHANGES IN** THE MEETING **AGENDA** 

Replacement Pages:

Item G - Certification of Results of Emma S. Clark Memorial Library Budget Vote

Item S.1 – Cover Page

Item S.2 – Non-Instructional Personnel Schedule B.6

Addenda:

Item F. - Policy

Q.1 – Approval of Memorandum of Agreement between the Three Village Central School District and the Three Village School Administrators Association, Regarding EMT Stipend Q.2 – Approval of Memorandum of Agreement between the Three Village Central School District and the UPSEU, Maintenance & Operations Unit, Regarding EMT Stipend  $Q.3-Approval\ of\ Memorandum\ of\ Agreement\ between\ the\ Three\ Village\ Central\ School$ 

District and the Three Village Registered Nurses Association

Item S.1 - Schedule A.2 and A.4

**BOARD OF EDUCATION** RECOGNITION **AND** 

The Board of Education, District Clerk, and Student Representative were honored as part of Board of Recognition week and a brief reception was held. The meeting reconvened at 8:30

p.m.

RECEPTION

**PUBLIC PARTICIPATION**  There was no Public participation at this time.

MINUTES AND **BIDS** 

Minutes of September 26, 2018

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 6-0-1 vote with Mr.

Connors abstaining, the Board approved the resolution as presented.

RIDS

Bid Number C-

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award the following bid, as presented:

2369, 2017/18

Capital

Improvement (58-02-01-06-0-

001-038/02-032/007-031/014-031), Contract No. 1 – Generator

Bid No.

C-2369 Relle Electric Corp.

On motion by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

REPORTS

Installation

Student

Representative Report

Lauren Walters reported on upcoming events, including Trick or Treat Street.

Independent Auditor's Report Tom Smith from EFPR Group presented the Independent Auditor's Report.

School Report Card

Mr. Scanlon presented the School Report Card report.

ITEMS FOR **BOARD DISCUSSION**  There were no Items for Board Discussion.

INFORMATION ITEMS TO THE **BOARD** 

Policy

Policy # 0110 -Sexual Harassment

Be it RESOLVED that the Board of Education accept the Policy delineated below:

Policy Title Policy #

0110 Sexual Harassment

On motion by Dr. Kerman, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the Policy as final.

ITEMS FOR **BOARD ACTION** 

Certification of Results of the Emma S. Clark Memorial Library **Budget Vote** 

Be it RESOLVED that the Board of Education hereby certifies the results of the Emma S. Clark Memorial Library Budget Vote held on September 26, 2018, as follows:

Proposition #1 - Budget

Shall the following proposition be adopted, to wit:

Shall the Board of Education appropriate funds in the amount of Five Million Three Hundred Eighty Eight Thousand One Hundred Ninety Five Dollars (\$5,388,195) for the 2019 operating budget of the Emma S. Clark Memorial Library, with said sum to be raised by tax on the taxable property of the Three Village Central School District.

> Yes-438No-57

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

NYSSBA Annual Meeting Proposed Resolutions

Be it RESOLVED that the Board of Education review and discuss for finalization the NYSSBA Proposed Resolutions for delegate vote at the Annual NYSSBA Business Meeting on October 27, 2018.

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board voted to support the N-SSBA recommendations.

Acceptance of Independent Auditor's Report Be it RESOLVED that the Board of Education accept the report of the district's Independent Auditor, EFPR Group, CPAs, for the 2017-2018 school year.

On motion by Mr. Kornreich, seconded by Dr. Kerman and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of an Additional Bank as Depository for school District Funds

Approval of Contract with Outside Service Provider for Special Educational Services

SEQRA Determination in Connection with the 2016 ESCO Project Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the designation of Sterling National Bank as a depository for school district funds for the 2018-2019 fiscal year.

On motion by Mr. Kornreich, seconded by Dr. Kerman and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve the Consultant Services Contract for special educational services for the 2018-2019 school year with the following provider:

### David Seyfert

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board voted to support the N-SSBA recommendations.

WHEREAS, the Board of Education of the THREE VILLAGE CSD is the lead agency under the State Environmental Quality Review Process for the purpose of required determinations respecting the proposed ESCO Project as follows:

Energy services performance contract-installation of photovoltaic solar panels to improve the energy efficiency of the district's building to the following buildings:

SETAUKET ELEMENTARY	SED #58-02-01-06-0-001-036
NASSAKEAG ELEMENTARY	SED #58-02-01-06-0-002-030
WILLIAM MOUNT ELEMENTARY	SED #58-02-01-06-0-006-029
ARROWHEAD ELEMENTARY	SED #58-02-01-06-0-007-029
PAUL J. GELINAS JR. HIGH SCHOOL	SED #58-02-01-06-0-008-038
WARD MELVILLE HIGH SCHOOL	SED #58-02-01-06-0-009-041
MINNESAUKE ELEMENTARY	SED #58-02-01-06-0-014-029
ROBERT MURPHY JR. HIGH SCHOOL	SED #58-02-01-06-0-015-035
NORTH COUNTRY LEARNING CENTER	SED #58-02-01-06-0-018-022

WHEREAS, in 1995, amendments were made to the SEQRA Regulation (Part 617) to classify projects, which will be excluded from the requirements for the preparation of an Environmental Impact Statement (Type II Actions). The project mentioned above are (is) now classified as Type II Actions as determined by 6NYCRR§617.5 and

WHEREAS, this project falls under the following categories:

- A. Maintenance or repair involving no substantial changes in an existing structure of facility;
- B. Replacement, Rehabilitation or Reconstruction of a structure or facility, in kind, on the same site, including upgrading buildings to meet building or fire codes, unless such action meets or exceeds any of the thresholds in Section 617.4 of this Part;

THEREFORE, as the lead agency for the SEQRA determination, all the above referenced project falls under Categories "A" or "B" above. The procedure for Type II Actions, with regard to the SEQRA Process for the ESCO Project noted above is "No Additional Required Action under 6NYCRR§617.5(a)".

### 2016 ESCO SOLAR PANELS-DISTRICT WIDE

State Environment Quality Review Notice of Determination of Non-Significance

WHEREAS, the Board of Education of the THREE VILLAGE CSD is the lead agency under the State Environmental Quality Review Process for the purpose of required determinations respecting the proposed ESCO Project as follows:

Energy services performance contract-installation of photovoltaic solar panels to improve the energy efficiency of the district's building to the following buildings:

SETAUKET ELEMENTARY	SED #58-02-01-06-0-001-036
NASSAKEAG ELEMENTARY	SED #58-02-01-06-0-002-030
WILLIAM MOUNT ELEMENTARY	SED #58-02-01-06-0-006-029
ARROWHEAD ELEMENTARY	SED #58-02-01-06-0-007-029
PAUL J. GELINAS JR. HIGH SCHOOL	SED #58-02-01-06-0-008-038
WARD MELVILLE HIGH SCHOOL	SED #58-02-01-06-0-009-041
MINNESAUKE ELEMENTARY	SED #58-02-01-06-0-014-029
ROBERT MURPHY JR. HIGH SCHOOL	SED #58-02-01-06-0-015-035
NORTH COUNTRY LEARNING CENTER	SED #58-02-01-06-0-018-022

WHEREAS, in 1995, amendments were made to the SEQRA Regulation (Part 617) to classify projects, which will be excluded from the requirements for the preparation of an Environmental Impact Statement (Type II Actions). The project mentioned above is now classified as Type II Actions as determined by 6NYCRR§617.5 and

WHEREAS, this project falls under the following categories:

- A. Maintenance or repair involving no substantial changes in an existing structure of facility;
- B. Replacement, Rehabilitation or Reconstruction of a structure or facility, in kind, on the same site, including upgrading buildings to meet building or fire codes, unless such action meets or exceeds any of the thresholds in Section 617.4 of this Part;

THEREFORE, as the lead agency for the SEQRA determination, all the above referenced projects fall under Categories "A" or "B" above. The procedure for Type II Actions, with regard to the SEQRA Process for the ESCO project noted above is "No Additional Required Action under 6NYCRR§617.5(a)".

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

- A Baby Grand Piano donated by Gene and Mae Sprouse to support the Three Village Music Department.
- A check in the amount of \$1,209.04 donated by the Three Village STEM Enrichment Foundation, Inc. to be used towards the cost of Saturday Science Olympiad practices.
- A donation in the amount of \$4,000.00 to fund the Unity/Bullying Prevention Presentation at Murphy JHS and Gelinas JHS on October 23, 2018. The donor wishes to remain anonymous.
- A Seiler IQ Microscope donated by Mr. Christopher Vacirca to the Three Village Academy.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board voted to support the N-SSBA recommendations.

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it resolved that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District.

<u>Item</u> <u>Description</u>	Model	Serial #	Three Village #	Condition	<u>Location</u>
Detecto Scale	N/A	435643	01076	Poor	Setauket- Health Office
Eye Sight Chart(visual	A600000	C36521	N/A	Poor	Setauket- Health Office
eye cabinet) Baldwin Piano	N/A	390757	N/A	Poor	WMHS-Band Practice Rm
Baldwin Piano	Hamilton	418427	N/A	Poor	WMHS-Band Practice Rm
Free-Standing B&W Printer	HP LaserJet 8150DN (C4267A)	JPBLL- 63634	005768	Poor	WMHS- Room 511- INSTAR
Free-Standing Color Printer	HP LaserJet 5500dtn (C9658A)	JPEK- 000685	005769	Poor	WMHS- Room 511- INSTAR

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Textbooks Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the books listed below be declared surplus and disposed of in the best interest of the Three Village Central School District. The books listed below are outdated and no longer in use.

<u>Title</u>	Publisher/ Date of Publication	<u>ISBN</u>	No. of Copies
Buckle Down: 5th ELA	Triumph Learning/2011		4
Latin America & Canada Assess Book	MacMillan McGraw- Hill/1998	002147334-X	24
World Explorer Medieval Times	Prentice Hall/1998	013433698-4	1
World Explorer The Ancient World	Prentice Hall/1998	013433688-7	1
NYS: Workout Skills Review	Triumph Learning/2011	9781608248155	7
Buckle Down: NY 6th: Math	Triumph Learning/2011	9780783670744	1
NY: Ready 4th ELA Practice	Curriculum Associates/2012	13627.0	5
NY: Ready 6th ELA	Curriculum Associates/2012	12275.1	1 packet
NY: Ready 3rd ELA	Curriculum Associates/2012	12272.1	6 packets
NY: Ready 4th Math Teachers Edition	Curriculum Associates/2012	13633.9	1
NY: Ready 4th Math	Curriculum Associates/2012	13633.0	1 book & 1 packet

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of
Memorandum of
Agreement
between the Three
Village Central
School District
and the UPSEU,
Three Village
Security Unit,
Regarding EMT
Stipend

RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the memorandum of Agreement between the Board of the Three Village Central School District and the UPSEU, Three Village Security Unit, providing for a stipend for those employees who maintain certification as an Emergency Medical Technician; and authorizes the President of the Board of Education to approve said Agreement.

On motion by Ms. Ragolia, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of memorandum of Agreement between the Employee Named in confidential Schedule "A", the UPSEU Maintenance & Operations Unit and the BOE of the Three Village Central School District

RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Memorandum of Agreement between the employee named in the attached Schedule "A", the UPSEU Maintenance Operations Unit, and the Board of Education of the Three Village Central School District; and authorizes the President of the Board of Education to execute the same.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Memorandum of Agreement between the Three Village Central School District and Three Village School Administrators Association, regarding EMT Stipend RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Memorandum of Agreement between the Board of the Three Village Central School district and the Three Village School Administrators Association, providing for a stipend for those employees who maintain certification as an Emergency Medical Technician; and authorizes the President of the Board of Education to approve said Agreement.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Approval of Memorandum of Agreement between the Three Village Central School District RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Memorandum of Agreement between the Board of the Three Village Central School District and the UPSEU, Maintenance & Operations Unit, providing for a stipend for those employees who maintain certification a an Emergency Medical Technician; and authorizes the President of the Board of Education to approve said Agreement.

and the UPSEU, Maintenance Operations Unit, Regarding EMT Stipend

On motion by Ms. Ragolia, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the Memorandum of Agreement between the Three Village Central School District and the Three Village Registered Nurses

RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Three Village Registered Nurses Association contract expiring on June 30, 2017, to remain in effect except where modified by the attached Memorandum of Agreement for the term of July 1, 2017 through June 30, 2021.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Memorandum of Agreement -Mestract Clerical

Association

RESOLVED, that Upon the recommendation of the Superintendent of Schools, that the contract of Agreement between the Board of Education of the Three Village Central School District, the Three Village Teachers Association, and the MESTRACT Clerical be approved.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

### RESIGNATION

<u>Name</u>	School/ Assignment	Effective Date	Date of Hire
Costanza, Caroline	Setauket/Teaching Assistant	9/30/18	11/9/05

# LEAVES OF ABSENCE

<u>Name</u>	School/ Assignment	<u>Effective</u>	Reason	<u>Tenured</u>
Lorenzen, Jennifer	Gelinas JHS/Teaching Assistant	10/15/18 – 12/31/18	Unpaid	No

## APPOINTMENT TO INSTRUCTIONAL POSITIONS

Costanza, Caroline Elementary Teacher

Dowling College - BA Dowling College - MS Previous Tenure – Yes

Related to current employee - No Salary Step/Level - 8/MA Effective: 10/1/18 – 6/30/19

This is a four-year, probationary appointment with an anticipated tenure date of 10/1/22. This appointment is due to an additional .5 math AIS position. Ms. Costanza was emergency appointed by Ms. Cheryl Pedisich, Superintendent of Schools with an effective date of 10/1/18. Ms. Costanza will be assigned to Mount Elementary School for the 2018-2019 school year. Ms. Costanza is currently working in the district and fingerprint clearance for employment is on file.

Hughes, Annmarie

Teaching Assistant SUNY Albany – BA SUNY Stony Brook - MS Previous Tenure – No

Related to current employee – No Salary Step 1/Level 1 - \$24,344 (pro-rated)

Effective: 10/10/18

This is a four-year probationary appointment with an anticipated tenure date of 10/10/22. This appointment is due to CSE Recommendation. Ms. Hughes was emergency appointed by Ms. Cheryl Pedisich, Superintendent of Schools with an effective date of 10/10/18. Ms. Hughes will be assigned to Paul J. Gelinas Junior High School for the 2018-19 school year. Ms. Hughes is currently working in the District and fingerprint clearance for employment is on file.

Lewis, Patricia Special Education Teacher

SUNY Stony Brook – BA SUNY Stony Brook - MA Previous Tenure – Yes

Related to current employee - No Salary: Step/Level -3/MA+15

Effective -8/30/18

This is to revise the anticipated tenure date to 8/30/21. Ms. Lewis has been granted one-year Jarema credit reducing her anticipated tenure date from 8/30/22 to 8/30/21. Ms. Lewis was previously approved at the Board of Education meeting held on July 11, 2018 with an anticipated tenure date of 8/30/22.

**Teaching Assistant** Mottola, Alison

SUNY Empire State College - BA

Previous Tenure – No

Related to current employee – Yes Salary Step 1/Level 1 - \$24,344 (pro-rated)

Effective: 10/29/18

This is a four-year probationary appointment with an anticipated tenure date of 10/29/22. This appointment is due to the resignation of John Ferraro. Ms. Mottola is the cousin of Mary Gonzalez, speech teacher at Setauket Elementary School. Ms. Mottola will be assigned to Ward Melville High School for the 2018-19 school year. Fingerprint clearance for employment has been received.

Registered Nurse Murray, Jayne

Adelphi University – BSN Previous Tenure – No

Related to current employee – No Salary Step/Level –11/NURSE -\$54,959 (pro-rated)

Effective - 10/1/18

This is a continuing appointment, effective 10/1/18. This appointment is due to increase in nurse staffing. Ms. Murray was emergency appointed by Ms. Cheryl Pedisich, Superintendent of Schools with an effective date of 10/1/18. Ms. Murray will be assigned as a float nurse districtwide. Ms. Murray is currently working in the District and fingerprint clearance for employment is on file.

O'Leary, Abigail One-year Leave Replacement Elementary Teacher

SUNY Cortland - BA Long Island University - MS

Previous Tenure - No
Related to current employee – Yes
Salary Step/Level - 2/MA+15 (pro-rated)

Effective – 10/1/18- 6/30/19

This is a one-year, leave replacement appointment effective 10/1/18 - 6/30/19. This appointment is due to the childcare leave of Patricia Macaluso. Ms. O'Leary was emergency appointed by Ms. Cheryl Pedisich, Superintendent of School with an effective date of 10/1/18. Ms. O'Leary will be assigned (.5) Nassakeag/(.5) Setauket Elementary Schools for the 2018-2019 school year. Ms. O'Leary is currently working in the district and fingerprint clearance for employment is on file.

# APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

# Substitute Teachers

Bonich, Melanie

Ms. Bonich was approved for emergency appointment by Ms. Pedisich to begin working on

Fingerprint clearance has been received.

Malo, Brittany

Fingerprint clearance has been received.

## APPOINTMENTS OF WINER COACH POSITIONS

<u>Last</u> <u>Name</u>	<u>First</u> <u>Name</u>	Building	Assign- ment	Effective	<u>Step</u>	Year at Step	<u>Total</u> <u>Years</u>	Stipend	<u>Status</u>	End Date
Junior H	igh Coaches									
Ariz- mendi	Kristina	Gelinas	Winter Cheerle ading 7/8	Early Winter	2	1	3	\$5,062.00	Out of District	01/18/19

Capan- zano	Jared	Murphy	Wrest- ling Asst. 7/8	Late Winter	2	1	3	\$4,369.00	Out of District	03/22/19
Delval- lez	William	Gelinas	Boys Basket-	Early Winter	1	2	2	\$4,230.00	Out of District	01/18/19
DiStasi	Vincent	Gelinas	ball 7/8 Wrest-	Late	2	1	3	\$4,369.00	Out of	03/22/19
Geoni- natti	Emiliano	Murphy	ling 7/8 Boys Basket-	Winter Early Winter	3	6	10	\$4,504.00	District In District	01/18/19
Geoni- natti	Emiliano	Murphy	ball 7/8 Girls Basket- ball 7/8	Late Winter	3	5	9	\$4,504.00	In District	03/22/19
Hop-	Michael	Gelinas	Wrest- ling 7/8	Late Winter	3	6	10	\$4,504.00	Retired	03/22/19
pey Jantzen	Leah	Gelinas	Girls Volley- ball 7/8	Early Winter	1	1	1	\$4,230.00	In District	01/18/19
O'Shau ghness y	Brian	Murphy	Girls Volley- ball 7/8	Early Winter	1	2	2	\$4,230.00	In District	01/18/19
O'Shau ghness y	Brian	Murphy	Boys Volley- ball 7/8	Late Winter	1	2	2	\$4,230.00	In District	03/22/19
Pelosi	Andrew	Gelinas	Girls Basket- ball 7/8	Late Winter	3	18	22	\$4,504.00	In District	03/22/19
Petruz- zi	Dan	Gelinas	Wrest- ling Asst. 7/8	Late Winter	2	1	3	\$4,369.00	In District	03/22/19
Shay	Stephanie	Murphy	Winter Cheer- leading	Early Winter	1	1	1	\$4,230.00	In District	01/18/19
Wald- vogel	Kimberly	Gelinas	7/8 Boys Volley- ball 7/8	Late Winter	1	1	1	\$4,230.00	Out of District	03/22/19
High Sch	ool Coaches									
Boltrek	Chris	WMHS	Varsity Boys/ Girls Shared Winter Track	Winter	1	2	2	\$7,963.00	In District	02/08/19
De- Luca	Ryan	WMHS	Floater Varsity Boys Winter	Winter	2	1	3	\$9,039.00	Out of District	02/08/19
Dion	Jean Pierre	WMHS	Track Varsity Girls Winter Track Asst.	Winter	3	7	11	\$8,479.00	In District	02/08/19
DiStasi	Vincent	WMHS	JV Wrest- ling	Winter	2	1	3	\$8,225.00	Out of District	02/08/19
Feretti	Diana	WMHS	JV Cheer- leading	Winter	1	1	1	\$6,592.00	Out of District	02/08/19
Gian- nelli	Matthew	WMHS	JV Girls Basket- ball	Winter	3	2	6	\$8,479.00	Out of District	02/08/19
Gor- don	Chris	WMHS	Varsity Boys Swim- ming	Winter	3	21	25	\$9,318.00	Out of District	02/08/19
Grippa	Christine	WMHS	Varsity Girls Basket- ball Asst.	Winter	3	11	15	\$8,479.00	In District	02/08/19
Hempe	Kyle	WMHS	Varsity Girls Fenc-	Winter	2	1	3	\$9,039.00	Out of District	02/08/19
Liev- ano	Rafael	WMHS	ing Varsity Wrest- ling	Winter	2	1	3	\$8,225.00	Out of District	02/08/19
Perfetti	Jeff	WMHS	Asst. Varsity Boys Swi- mming Asst.	Winter	3	3	7	\$8,479.00	Out of District	02/08/19

Perret- ta	Christine	WMHS	Varsity Cheer- leading	Winter	2	1	3	\$7,533.00	Out of District	02/08/19
Piccir- illo	Alex	WMHS	Varsity Boys Basket ball	Winter	3	5	9	\$9,318.00	Out of District	02/08/19
Sal- mon	Jeff	WMHS	Varsity Boys Fen- cing	Winter	3	15	19	\$9,318.00	Out of District	02/08/19
Schnet -tler	Garrett	WMHS	Varsity Wrest- ling	Winter	3	3	7	\$9,318.00	In District	02/08/19
Schoen	Brian	WMHS	Varsity Boys Winter Track Asst.	Winter	3	15	19	\$8,479.00	In District	02/08/19
Smith	Jesse	WMHS	Varsity Boys Basket- ball Asst.	Winter	3	11	15	\$8,479.00	In District	02/08/19
Wal- ters	Jeanette	WMHS	Varsity Cheer- leading Asst.	Winter	1	2	2	\$6,809.00	Out of District	02/08/19
Youn- gs	Tom	WMHS	Varsity Girls Winter Track	Winter	3	14	18	\$9,318.00	In District	02/08/19
Athletic	Supervision		114011							
Allgor	Kimberly	District	Ath- letic Super- vision	2018- 2019					In District	\$2,500.00
Supervis	ion Rate:	\$28.47/hr	prior to 6:00	) p.m.						

\$42.71/hr after 6:00 p.m. and on days school is closed

Scoreboard Timer: \$109.37 p. contest

All other times/scorers receive supervision pay rate

# APPOINTMENTS OF CO-CURRICULAR SPONSORS

<u>Last Name</u>	First Name	Building	Activity	<u>Effective</u>	Rate	Not to Exceed
Rieckhoff	Dan	Murphy	Lego/Robotics Club Advisor	2018-2019	\$2,159.00	\$2,159.00
		approved for the	his club on 09/26/2018. This	reflects a level cha	ange form leve	el "F" club
to a level "E" cl Pahuja	ub. Pamila	Murphy	Key Club Advisor	2018-2019	\$1,524.00	\$1,524.00
3	Debbi		Wellness Club Co-	2018-2019	\$762.00	\$762.00
Rakowksy	Debbi	Murphy	Advisor	2016-2019	\$702.00	\$702.00
Mottola	Jessica	Murphy	Wellness Club Co- Advisor	2018-2019	\$762.00	\$762.00
			he sole advisor for this club o			end. This
reflects a correct	tion to a leve Beverly	el "F" stipend v Gelinas	which will be shared with Jest Science Olympiad	sica Mottola as co- 2018-2019	-advisor. \$1.524.00	\$1,524.00
**Ms. Cutting i			• 1	2010-2017	φ1,324.00	\$1,524.00
Chapman	Jason	WMHS	Music Production and	2018-2019	\$2.158.00	\$2,158.00
Chapman	Jason	WINIIS	Composition Club	2016-2019	\$2,136.00	\$2,136.00
**This reflects	a club name	change from N	Music Technology Club, which	h was previously I	BOE approved	
Jimenez	Kathy	WMHS	Muslim Student Association	2018-2019	\$2,158.00	\$2,158.00
**This reflects	a club name	change from N	Muslim Culture Club, which w	vas previously BO	E approved.	
Conlon	Toni	Nassakeag	Art Club	2018-2019	\$1,523.00	\$1,523.00
Broome	Tara	Nassakeag	Games Galore	2018-2019	\$1,523.00	\$1,523.00
Dagostino	Rebecca	Nassakeag	Spanish Club	2018-2019	\$1,523.00	\$1,523.00
Cooley	Laura	Nassakeag	Music Explorers	2018-2019	\$1,523.00	\$1,523.00
Safranek	Susan	Nassakeag	SciMat Club	2018-2019	\$1,523.00	\$1,523.00
Cooper	Allison	Nassakeag	SciMat Club	2018-2019	\$1,523.00	\$1,523.00
Larsen	Judy	Nassakeag	Student Council	2018-2019	\$1,701.00	\$1,701.00
Homenides	Eleni	Nassakeag	Safety Patrol	2018-2019	\$1,523.00	\$1,523.00
Davies	Robert	Nassakeag	Chamber Ensemble	2018-2019	\$1,523.00	\$1,523.00
Lange	Darlene	Nassakeag	Newspaper Club	2018-2019	\$1,523.00	\$1,523.00
Macedonia	Jackie	Nassakeag	Garden Club	2018-2019	\$1,523.00	\$1,523.00
Weinstein	Robyn	Nassakeag	Book Club	2018-2019	\$1,523.00	\$1,523.00
Earls	Linda	Nassakeag	Looming Club	2018-2019	\$1,523.00	\$1,523.00
Kmiotek	Barbara	Nassakeag	Pickleball Sport Club	2018-2019	\$1,523.00	\$1,523.00
Austin	Pam	Setauket	Student Council Gr. 5	2018-2019	\$1,523.00	\$1,523.00
Beck	Christine	Setauket	2nd grade Science Club	2018-2019	\$1,523.00	\$1,523.00

Brady	Judy	Setauket	6th grade Safety Patrol	2018-2019	\$1,523.00	\$1,523.00
Cimini	Michelle	Setauket	Newspaper Club	2018-2019	\$1,523.00	\$1,523.00
DaVanzo	Matthew	Setauket	Sports Clinic	2018-2019	\$1,701.00	\$1,701.00
DaVanzo	Matthew	Setauket	Math Game Club (intermediate)	2018-2019	\$1,523.00	\$1,523.00
Faughnan	Bridget	Setauket	Internet Safety Club- Gr.	2018-2019	\$1,523.00	\$1,523.00
Faughnan	Bridget	Setauket	Running Club, co- sponsor	2018-2019	\$850.50	\$850.50
Gitter	Marilyn	Setauket	Creative Writing-Gr. 3-5 (Fall Club)	2018-2019	\$1,523.00	\$1,523.00
Gitter	Marilyn	Setauket	Creative Writing-Gr. 3-5 (Spring Club)	2018-2019	\$1,523.00	\$1,523.00
Gitter	Marilyn	Setauket	Scrabble	2018-2019	\$1,523.00	\$1,523.00
Guez	Rich	Setauket	Sports Clinic	2018-2019	\$1,701.00	\$1,701.00
Guez	Rich	Setauket	Stage Crew	2018-2019	\$1,523.00	\$1,523.00
Guez	Rich	Setauket	Science Phenomena- gr 4	2018-2019	\$1,523.00	\$1,523.00
Gustafson	Eric	Setauket	Escape The Room	2018-2019	\$761.50	\$761.50
Levenson	Melissa	Setauket	Homework Club, co- sponsor	2018-2019	\$761.50	\$761.50
McNaughton	Kayla	Setauket	Screen to Text Book Club	2018-2019	\$1,523.00	\$1,523.00
Parpas	Melanthi	Setauket	Homework Club, co- sponsor	2018-2019	\$761.50	\$761.50
Peck	Maureen	Setauket	Scrapbook Club	2018-2019	\$1,523.00	\$1,523.00
Rippe	Vincenza	Setauket	Italian Club	2018-2019	\$1,523.00	\$1,523.00
Varracchi	Gina	Setauket	3rd grade Science Club	2018-2019	\$1,523.00	\$1,523.00
Varracchi	Gina	Setauket	Student Council- gr. 6	2018-2019	\$1,523.00	\$1,523.00
Wall	Lisa	Setauket	Running Club, co- sponsor	2018-2019	\$850.50	\$850.50
Wall	Lisa	Setauket	Math Game Club (primary)	2018-2019	\$1,523.00	\$1,523.00
Vohrer	Sandy	Setauket	Garden Club	2018-2019	\$761.50	\$761.50
Freeman	Kelly	Setauket	Garden Club	2018-2019	\$761.50	\$761.50
Morseman	Janet	Setauket	Garden Club	2018-2019	\$761.50	\$761.50
Birbiglia	Karen	Setauket	Garden Club	2018-2019	\$761.50	\$761.50

# APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	Effective	Stipend	Not to Exceed
Stipends						
Whitman	Julianne	WMHS	SAT Prep Program Instructor	Oct-Nov 2018	\$1,442.00	\$1,442.00
Catalfamo	Tammy	WMHS	SAT Prep Program Instructor	Oct-Nov 2018	\$1,442.00	\$1,442.00
Diehl	John	WMHS	SAT Prep Registration	Oct-Nov 2018	\$515.00	\$515.00
Sheridan	James	WMHS	SAT Prep Supervision	Oct-Nov 2018	\$1,030.00	\$1,030.00
Williams	Laura	WMHS	.05 Living Environment- AIS Class	2018-2019	\$ 5,568.20	\$1,837.50
Hannifin	Danielle	WMHS	.05 Living Environment- AIS Class	2018-2019	\$ 5,293.20	\$1,746.78
Olsen	Walter	WMHS	Naviance Lead Teacher (1st year)	2018-2019	\$1,715.00	\$1,715.00

# APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last Name</u>	First Name	Building	Assignment	Effective	Rate	Hours	Not to Exceed
Ouzounian	Marisa	Gelinas	Science Olympiad - hourly coach	2018-2019	\$43.61/hr	30	\$1,308.30
**Ms. Ouzoun	ian is replacing	Jillian Visser	(previously BOE a	pproved) as hou	rly coach.		
Weiler	Christy	Gelinas	Accompanist for Winter Concerts at Gelinas December 12, 13, 19, 2018.	2018-2019	\$150/concert	3 concerts	\$450.00
Serigano	Jennifer	WMHS	Science Olympiad Saturday Practices	2018-2019	\$43.61/hr	28	\$1,221.08
Chapman	Jason	WMHS	Jazz III NYS School Board Association Convention	10/25- 10/26/2018	\$150/night	1 night	\$150.00

Hill	Jeanne	WMHS	Jazz III NYS School Board Association	10/25- 10/26/2018	\$150/night	1 night	\$150.00
Finnerty	Kevin	WMHS	Convention Jazz III NYS School Board Association Convention-	10/25- 10/26/2018	\$200/night	1 night	\$200.00
Rogers	Steve	WMHS	Administrator HHH West Robotics	10/6/2018	\$300/day	1 day	\$300.00
Contino	Linda	WMHS	Competition HHH West Robotics	10/6/2018	\$300/day	1 day	\$300.00
<u>Proctors</u>			Competition				
Bayles	Tanya	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	5	\$218.05
Borch	Kiyolena	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	7	\$305.27
Burger	Susan	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	7	\$305.27
Coppola	Pat	WMHS	PSAT	10/13/18	\$43.61/hr	5	\$218.05
Crispino	Lisa	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	7	\$305.27
Drosselmeier	Theresa	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Goldberg	Mary Rose	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	7	\$305.27
Hurley	Terri	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Levine	Tara	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Marra	Julianne	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
McCaffrey	Virginia	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	7	\$305.27
McInerney	Alecia	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Metrio	Jessica	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Morrison	Kimberly	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	10	\$436.10
Murphy	Christopher	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Pomerantz	Linda	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Portuallo	Jean		Proctoring PSAT		\$43.61/hr		\$218.05
		WMHS	Proctoring	10/13/18		5	
Preuss	Maryanne	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	5	\$218.05
Ray- Argandona	Pamela	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	7	\$305.27
Rickmers	Tinamarie	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	5	\$218.05
Russo	Stacey	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	5	\$218.05
Sangiamo	Sue	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	7	\$305.27
Schwalje	Lauren	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	5	\$218.05
Sementilli	Angela	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	7	\$305.27
Silberfeld	Barbara	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	5	\$218.05
Solntzeff	Christine	WMHS	PSAT Proctoring	10/13/18	\$43.61/hr	5	\$218.05
Spira	Bob	WMHS	PSAT	10/13/18	\$43.61/hr	5	\$218.05
Stuart	Ryan	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Tullo	Pat	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	7	\$305.27
Viviano	Theresa	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	7	\$305.27
Yasson	Carol	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Aweh	Michele	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Lemorzellac	Christian	WMHS	Proctoring PSAT	10/13/18	\$43.61/hr	5	\$218.05
Driscoll	Christina	Arrowhead	Proctoring Brown	10/20/18	\$200.00	1 night	\$200.00
			University Cross Country Invitational- chaperone for girls' cross country team- overnight			-	

Salerno	Miriam	District Wide	Various Concerts and Rehearsals, dates TBD.	2018-2019	\$200/concert with rehearsals	5 concerts	\$1,000.00
** Accompanist- fingerprint clearance on file with application.							
Reynolds	Scott	Gelinas	Pickleball- Instructor, Continuing Ed.	Fall 2018	\$20.00/hr	16	\$320.00
** Mr. Reyno	olds is replacing	g Ms. Schindler	who was previously	y BOE approved	as the instructo	r.	
Hayes	Dan	WMHS	Chaperone/Ove rnight All-State NYSSMA Rochester	11/29/2018- 12/2/2018	\$150/night	3 nights	\$450.00
Hayes	Dan	WMHS	Chaperone All-State NYSSMA Rochester	11/29/2018- 12/2/2018	\$300/day	2 days	\$600.00
Gelfer	Phil	WMHS	Chaperone/Ove rnight All-State NYSSMA Rochester	11/29/2018- 12/2/2018	\$150/night	3 nights	\$450.00
Gelfer	Phil	WMHS	Chaperone All-State NYSSMA Rochester	11/29/2018- 12/2/2018	\$300/day	2 days	\$600.00
Gelfer	Phil	WMHS	All-County Festival Chaperone	11/7/2018	\$43.61	6	\$261.66
Tunkel	Vinny	WMHS	All-County Festival Chaperone	11/7/2018	\$43.61	6	\$261.66
Gasparre	Angela	Murphy	All-County Festival Chaperone	11/7/2018	\$43.61	6	\$261.66
Endres	Lisa	Murphy	All-County Festival Chaperone	11/7/2018	\$43.61	6	\$261.66
Hayes	Dan	WMHS	All-County Festival Chaperone	11/15/2018	\$43.61	8	\$348.88
Tunkel	Vinny	WMHS	All-County Festival Chaperone	11/15/2018	\$43.61	8	\$348.88
Gasparre	Angela	Murphy	All-County Festival Chaperone	11/15/2018	\$43.61	8	\$348.88
Endres	Lisa	Murphy	All-County Festival Chaperone	11/15/2018	\$43.61	8	\$348.88

# APPOINTMENTS OF DEPARTMENT CHAIRS

School	Subject	<u>Name</u>	Effective Date
P.J. Gelinas	Science	Peter Schuchman	September 20, 2018

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

# RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective Date	<u>Length of Service</u>
Hughes, Annmarie	Special Education	10/9/2018	2 yrs.
	aide/ Gelinas Junior		
	High School		
Meyers, Michele	Special Education	10/15/2018	11 yrs. & 1 mo.
	Aide/ Mount		
	Elementary School		

# APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

# Monitor/Special Education Aides

Blansfield, Brandon Special Education Aide (5.75 hours/day)

Setauket Elementary School Replacing Nicole Guglielmo

Related to current employee: No Salary: \$14.42/hr (Step 1/Level 10)

Stipend: \$700 (prorated) Effective: 10/3/2018

Mr. Blansfield was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Special Education Aide (6.25 hours/day) Curran, Jamie

Gelinas Junior High School

New Position

Related to current employee: No Salary: \$14.42/hr (Step 1/Level 12)

Stipend: \$700 (prorated) Effective: 10/15/2018

Ms. Curran was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Danks, Charles Special Education Aide (5.75 hours/day)

Gelinas Junior High School

**New Position** 

Related to current employee: No Salary: \$14.42/hr (Step 1/Level 10)

Stipend: \$700 (prorated) Effective: 10/15/2018

Mr. Danks was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Dreyer, Lori Special Education Aide (6 hours/day)

Mount Elementary School

**New Position** 

Related to current employee: No Salary: \$14.42/hr (Step 1/level 11)

Stipend: \$700 (prorated) Effective: 10/18/2018

Fingerprinting clearance has been received and is on file.

Ingrassia, Andrea School Monitor (3.5 hours/day)

Setauket Elementary School Replacing Susan Antonio Related to current employee: No Salary: \$14.42/hr (Step 1/level 3)

Effective: 10/4/2018

Ms. Ingrassia was emergency appointed by Cheryl Pedisich, Superintendent of Schools.

Fingerprinting clearance has been received and is on file.

Marino, Claudia Special Education Aide (5.75 hours/day)

Setauket Elementary School District

Replacing Kelly Mortilla

Related to current employee: Yes Salary: \$14.42/hr (Step 1/Level 10)

Stipend: \$700 (prorated) Effective: 10/4/2018

Ms. Marino is the niece of Laurance Marino, Assistant Director of PPS and Jose Salazar, a teacher of Ward Melville High School. Ms. Marino was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Mortilla, Kelly Special Education Aide (6 hours/day)

Mount Elementary School Replacing Barbara Lochansky Related to current employee: No Salary: \$14.81/hr (Step 3/Level 11)

Stipend: \$700 (prorated) Effective: 9/27/2018

Ms. Mortilla was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Rimmer, Lisa Special Education Aide (6 hours/day)

Arrowhead Elementary School

Replacing Joseph Booker Related to current employee: Yes Salary: \$14.42/hr (Step 1/level 11)

Stipend: \$700 (prorated) Effective: 10/1/2018

Ms. Rimmer is the cousin of Kristen Rimmer, Principal of Setauket ES, and Keri Rimmer, Districtwide Teacher and the sister of Christina Catizone, TA at Gelinas. Ms. Rimmer was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

## School-Aged Child Care (SACC)

Buehler, Catherine Child Care Assistant (max 5 hours/week)

Arrowhead Elementary School Replacing: Lynda Helenek

Salary: \$14.79 hourly (Step 1/Level 1)

Effective: 10/18/18

Ms. Buehler is currently a Teaching Assistant at Arrowhead Elementary School. Fingerprinting clearance has been received and is on file.

Flaherty, Chaise Child Care Assistant (max 25 hours/week)

Mount/Nassakeag Elementary School

New Position

Related to current employee: No Salary: \$14.79 hourly (Step 1/Level 1)

Effective: 10/18/18

This appointment is contingent on background clearance. Fingerprinting clearance has been received and is on file.

Gibson, Lori Child Care Assistant (max 10 hours/week)

Mount Elementary School Replacing: Debora Lovett

Salary: \$14.79 hourly (Step 1/Level 1)

Effective: 10/18/18

Ms. Gibson is currently a Special Education Aide at Mount Elementary School. Fingerprinting clearance has been received and is on file.

Pollett, Deborah Child Care Assistant (max 15 hours/week)

Minnesauke Elementary School

New Position

Related to current employee: Yes Salary: \$14.79 hourly (Step 1/Level 1)

Effective: 10/18/18

Ms. Pollett is the sister-in-law of Fred Leute, Assistant Coordinator of Security. This appointment is contingent on background clearance. Fingerprinting clearance has been received and is on file.

Rettig, Rosemarie Child Care Assistant (max 8.75 hours/week)

Minnesauke Elementary School Replacing: Shane Ausset

Salary: \$14.79 hourly (Step 1/Level 1)

Effective: 10/18/18

Ms. Rettig is currently a special education aide at Gelinas Junior High School. Fingerprinting clearance has been received and is on file.

# CHANGES OF STATUS

## Clerical

Smith, Heather From: Senior Office Assistant (Step 9/Level 3)

To: Account Clerk Typist (Step 10/Level 4)

Music Department

Annual Salary: \$53,742 (prorated) Effective: October 2, 2018

Civil Service has reclassified the Senior Office Assistant position in the Music Department to Account Clerk Typist. Ms. Smith held the Senior Office Assistant position and is now being recommended for promotion to the title of Account Clerk Typist.

Wiltse, Mary From: Office Assistant (Step 7/Level 1)

Ward Melville High School

To: Senior Office Assistant (Step 8/Level 3)

Murphy Junior High School

Replacing: Caroline Freiss (promoted) Annual Salary: \$48,770 (prorated) Effective: October 25, 2018

Ms. Wiltse is being promoted to Senior Office Assistant at Murphy Junior High School due to the promotion of Caroline Freiss in the Office of Human Resources.

#### Custodial

Torre, Jr., James From: Custodial Worker I (Step 1/Level 1)

To: Custodial Worker II (Step 1/Level 1) Annual Stipend: \$500.00 (prorated) Arrowhead Elementary School Replacing: Michael Hart (promoted) Effective: September 24, 2018

Mr. Torre, Jr. is replacing Michael Hart due to his promotion to General Maintenance- Grounds in September 2017. Mr. Torre, Jr. was emergency appointed on September 24, 2018.

# Monitors/Special Education Aides

Antonio, Susan From: School Monitor (Step 1/Level 3)

Setauket Elementary School

To: Special Education Aide (5.75 hours/day)

Salary: \$14.42/hr (Step 1/Level 10)

Stipend: \$700 (prorated) Effective: 10/4/2018

Dell'Isola, Isabel From: School Monitor (Step 15/Level 11)

Ward Melville High School

To: School Monitor (Step 15/Level 13)

Effective: 10/18/2018

Feehan, Deborah From: School Monitor (Step 14/level 3)

Nassakeag Elementary School To: School Monitor (Step 14/Level 4)

Effective: 9/24/2018

This is a correction to what was previously board approved on 9/26/18. Ms. Feehan should have been approved at Level 4, not Level 3.

Gibson, Lori From: Special Education Aide (Step 1/Level 12)

Murphy Junior High School

To: Special Education Aide (Step 1/level 11)

Mount Elementary School Effective: 10/15/2018

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

# Clerical

Bracco, Sandra Salary-\$13.00/hr.

Effective-10/18/18

This appointment is contingent on background clearance. Fingerprinting clearance has been received.

## Custodial

Inga, Robert Salary-\$13.00/hr.

Effective-10/18/18

This appointment is contingent on fingerprint and background clearance. Robert Inga is a cousin to Vincent Inga, Head Custodian at Mount Elementary.

Philcox, Derek Salary-\$13.00/hr.

Effective-10/18/18

This appointment is contingent on background clearance.

# Food Service Workers

Lennon, Cheryl Salary-\$13.00/hr. Effective-10/18/18

This appointment is contingent on background clearance. Fingerprinting clearance has been received.

# Monitors/Special Education Aides

Bracco, Sandra Salary-\$13.00/hr. Effective-10/18/18

This appointment is contingent on background clearance. Fingerprinting clearance has been received.

Farrell, Marsia Salary-\$13.00/hr

Effective-10/18/18

Fingerprinting clearance has been received.

Kocka, Brieanne Salary-\$13.00/hr

Effective-10/18/18

Fingerprinting clearance has been received.

Meyers, Michele Salary-\$13.00/hr

Effective-10/18/18

Fingerprinting clearance is on file.

# APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last Name</u>	<u>First</u> Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Santos	Maria	Arrowhead	District-Wide Spanish Translator During the School Day	2018- 2019	\$60/hr	5	\$300.00
Heiberger	Madlyn	WMHS	PSAT Proctoring	10/13/18	\$43.61	6	\$261.66
Kickel	Cathy	WMHS	PSAT Proctoring	10/13/18	\$43.61	6	\$261.66

# APPOINTMENTS OF RETURNING COMMUNITY SWIM PROGRAM EMPLOYEES

Last Name	First Name	<b>Building</b>	<u>Assignment</u>	<b>Effective</b>	Hourly Rate		
Miller	Harry	WMHS	Lifeguard- Step 3	9/1/18	\$14.00		
**Mr. Miller was appointed as a lifeguard effective 6/19/14. This recommendation is for his step							
increase to lev	el 3, following his	s second 2 year	rs of service.				
Allen	Susan	WMHS	WSI- Level 1, Step 3	7/1/18	\$17.25		
**Ms. Allen w	vas BOE approved	l on 9/5/18 at l	level 1, Step 1. This recon	nmendation is to	correct her		
step to Level 1	, Step 3.						

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education, Sub-Committee and Accommodation 504 Plan Meetings of: June 13, July 12, August 16, 22, 28, 30, September 10, 13, 18, 19, 20, 24, 25, 26, 27, 28, October 1, 2 and 4, 2018

Recommendations of Committee on Preschool Special Education Meetings of: September 18, 21, 24, 28, October 2 and 5, 2018 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF INTEREST There were no Informational Items of Interest.

PUBLIC PARTICIPATION

There was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote to adjourn the meeting at 9:10 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk